EHZRTEINRE

BRIHL  STTEE WAL W T R BT
BRAE W
EFCHEEA R IR K B F34-83

WEH TRE R AMR] A Hfr [ B B & G| I
B AE  EEER =Y 1 B3 A
i 2V 1 (MX11B gk
Helesl = 1 (A+B) X 0.15
FERIRE R = 1
EBMEEL 2 1
VBB S A = 1 10%
&t = 1




(MEFBROERH EBERALERVSEEH SM6ENIEN)

—IREBIR LB A - R
BB T B HES L (BE BB KS < HESE)

allfii|

(F1) B HIE THRoOE 1 BEOREA - i

[ GEBA - = 100 233% (M 1 HE OB R 1

CADF — | TCADF — ¥ o[ TCans— & @
SOt | EEECEY | BISIZ L
P | TR | SRR
L0HE | BB ES | BeAbIRS
BERIE | ofEm) &« [ oSN &
B B 4 B #E R | E s | vrmE | EsLsEm Lok LCEE
BIA | 1 #ciEeo ] LA -
®HEa ] A - WERk v
MOO | - MFE 6 — Ffﬁﬂﬁﬁﬁo. — 2.0 2.0
MOL {BFHE B H B - B — ’FﬁE{ﬁo.z - 2.0 9.0
M02 LaHEAKERGE MEiEE — Mo g — 3.0 3.0
MO3 [FaHRokadid HASEY A RE. &E3ETER — A |o.6 — 6.1 6.1
MO4 [adEAERIE 1 MESEmEE < sG> — A 0.6 — 6. 1 6.1
MOB [fEHEZRERE 2 BEmE <oiiERi > — A 0.6 — 6.1 6.1
MO8 |feHEkERE 3 PR < ciER > — A Jo.el — 6. 1 6.1
MO7 HEBERKERE 1 W TER <MiEE > - B (Lo — 10.2 10.2
MO8 WAHEAGRE 2 MEEmN < g% > — B |1.0] -~ 10.2 10, 2
M09 |FatEk a3 MEERE < s > — B (Lo — 10.2 10.2
I E 62.0 62.0
(F£2) BERWIELFEORME | EOEBEA - B [ GEBA - HEE) = 10.233x (Hf\E 1 fHE0RERGRED )
capF—| IcapF—# o] fcapF—# o
Foig | RESIZDLD | RS20
PRSI | SR RENG | R RIS
0¥ |BLALESG | B 5HAe
TR | ORSEE] & | DRI %
wE 5 i 28 # 5 R | e | e | SO LEE (108 LTREE
BN G | 1o %R | LA -
BEO | A - BRI isiiEed
i
EOO |BEHS it —  EBIE{Ho. 2] — 2.0 9.0
EOL |B&EFLE 1 BEEmBE < s, dugtg > - A |0.6] — 6.1 6.1
E02 EAEME 2 PR < Skl s > — A lo.sf ~ 6.1 6.1
E03 (B 3 P-EmE]<gcienm. doEs > — A 0B — 6.1 6.1
AN BT 20.3 20.3

(3) BECETFORE 1 HEnEEA - B [ GEEA - EBREE = 13,567 (HE 1 EHEOBREDELE ]
CADT — [ TCADS—F ] TCADF—F @
FofE RS- Ly PRSI L
e | BTAREINNEAS | R RISEIA
IVZEIELNLESIELRLES
) BE | o) & | oREE; ¥
&5 Bm 4 FF e OR | EMEEE | uaE ERLERE Lok LTHE
aid | IO EE] LEEEA -

WaEm | A - AR HEiE=4
ADO [HREE MEfLERE — g0 - 2.7 2.7
AOL JEEEL ) BLTEEER < fEni > — A |08 — 8.1 8.1
AOZ [EEEE 2 PR <ohiEai> — A (0.8 — 8.1 8.1
AD3 ERED 3R < SfEdn > — A |0.8] — 8.1 8.1
AO4 JEEHL 1 PRPEE <dkfEt > — A |o.s| — 8.1 8.1
ADS |BBEE 2 BEEEE < d{EfE > — A 0.6 — 8.1 8.1
ACH |BEEE 3R < cifEtg > — A 0.6 — 8.1 8.1




(TEFFERORFEFERERERUVSEEM SHCFRIZEN)

R D A - e 2
BRI B ST (R B IS < UE )

(F£3) HSEME THORIR L EOEBA - B [ CEBA - W = 13.567x (M 1 0B RmiE ]

cApF—1{ [CApF—H @] [Canr—+# @

i { RIEEI- L0 {1RESICLD

e | SRR IEMAS | LRI

FUEIBORLES | EHN 58S

5 B4 f R | o | Mt | mo im0k LR

=R g T : : R Bk LA R {0k LTRE

“ HAr A B L ons | 1 emoms| Lisish -
BEOE A MR BR 8

A07 [ERREAIH ‘ — | A 08 — 8.1 8.1

AO8 |HIRIH — A |0.8] — 8.1 8.1

AD9 |HEETH — A (0.8 — 8.1 8.1

Ao | R — | A log — 8. 1 8.1

M| b A V7 —2E — | A [o.8] — 8.1 8.1

g 91.8] 918

(F1). (F2), (FENLY
(—VEETEITIR AR A - i = 62.0 +20.3 +91.8 = 174.1
174. 1 [ A - 5[]

ft




(MBS OB ERFRELERVSEEN THoER M)

BANEBITAR D B A - Redk

e 3
ARSI SRS (RIf B 3D < L k) Al

FHEERCRDIERA - BBERORE
( MASETIRIESA - i)
= ( FEMFREHIRDEGA - WFEE 0 X 0.21
=620+ 203 + 91.8 | x 0.21
= 174.1 X 0.21
= 36.5 [A - W[H]

MEEEO—HEEXTLHA0EEA - HKORE
( BREEO—HEEXTLHEOREE AN - WEE )
= ( BEEBCHEIEBA - WHE X ( MEEBCMRIETMNSE [¥al )
= 365 X (051 + 0.18 + 0,19 + 0.12 }
= 365 X 1,00
= 36.5 [A K]

[%a] BHERICGDLIEENSEONR
0.5l @ FEEBENFOER

0.18 : BEIFRCERIOIER

0.19 : RENE

0.12 . REMETEROEN

HBNEORFIG CEEBA - BEBORE
CT AR My OEMEER (BE1+RHH1) X1 2% {120 A« BERET D
& 120N - BFR]

EMEBCRLIEEA - BEE
= ( BEEBOMEEFXTIREOEBA - K ) + ( EENFOERICS ULEBA - W)
= 36.5 [A -] + 12 [A - 1]
= 48.5 [ A - ]

#1 @ BEEAMEOBRREICONT
(A - B = ( —REBCKRIEBA W) + ( BMERCHIEBEA - WNiHE)
= 174.1 [A - W] + 48.5 LA - 1)
= 222,86 [A - BH]
CBEBEGEIEBA  WRROEERIKL 28R,
CBMERICRDEEA - MEROREFERIM 2 228,

(GE#EA - BHED) = (GEBA BRI + 8 [KHE)
= 222.6 [A - M) + 8 [WRE]
= 07.8 [A- B /NEEUTE VT

2.8 [A-R]|x| Ffi (C) | = | H
EHEARE RIS




